Quick Release Saddlebag System

Art. no. 66 - 020

Components
1 Saddlebag quick release gilp 2x
2 Key
3 Boilom release part 2x
4 | optional mounting part 2
. 5 | Allenhead bolt round/flat Mé x 12mm | 6x
é | Allenhead balf round/flat M6 x 24mm | &
7 Speclal nut Mé &x
8 | Allenhead bolt roundfflat M6 x 20mm | 4x
@ | Support for quick release grip X
10§ Lockbolt Méx 20mm 4%
11| Washer Mé x @24 mm 8x
121 Locknut Mé 8x

13] Adjustmentrng @25x 15,7 x8mm | 2x

14] Adjusimenting @25x &12 x8mm | 2

15| Allen headless bolf M4 x Smm 4%

16| Allenhead bolt M10 x 100mm (adjust]) | 4%

16 Allenhead bolt M8 x 100mm (ad|ust) 4x

16| Alenhead bolt M6 x 100mm (adjustl) | 4

(]

2mm

© Moto-Lux Specialties B.V. advises installation by a professional mechanic.
We do not accept responsibility for improper installation. Barneveld - The Netherlands |




